A7 7L NEZAEUESRI=VNEEZE(I)—26. 04. 01

AB#ER
<F1ERE>SXFZEH ZHENAEEZHE]
= e —E X HEAEE A¥E
B 3] 4
ENEE [y B (* 1) B % 2) FEiEE BE 1BHE (308 4))
EZMhiE 663 79 795 820 300 1,915 57,450
EriE2 733 79 870 820 300 1,990 59,700
ZEMiES 807 79 949 820 300 2,069 62,070
EN &4 877 79 1,023 820 300 2,143 64,290
ZiES 947 79 1,097 820 300 2,217 66,510
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EZhiE 663 79 795 820 390 2,005 60,150
EriE2 733 79 870 820 390 2,080 62,400
EMiES 807 79 949 820 390 2,159 64,770
ENiEs 877 79 1,023 820 390 2,233 66,990
EhiE 947 79 1,097 820 390 2,307 69,210
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ENiE 663 79 795 1,310 650 2,755 82,650
EriE2 733 79 870 1,310 650 2,830 84,900
ENiES 807 79 949 1,310 650 2,909 87,270
ENiEs 877 79 1,023 1,310 650 2,983 89,490
EhiE 947 79 1,097 1,310 650 3,057 91,710
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EhiE 663 79 795 3,200 1,600 5,595 167,850
EriE2 733 79 870 3,200 1,600 5,670 170,100
E/iES 807 79 949 3,200 1,600 5,749 172,470
ENiEs 877 79 1,023 3,200 1,600 5,823 174,690
BN iES 947 79 1,097 3,200 1,600 5,897 176,910
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